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7 100kN/mM##B % % - -~ — —|3mZEHEZ D - ~ — — — | 100kN/m#%#8x5% — -~ — —|3mZi#BZ S -~ - — -
Zn Lot 1.00) 000 ~ 373 47.01 | #hst | 000 ~ 373 2.14 10.84 ZN LIS 1001 6.00 ~ 5.00 47.01 | 0S| 5.00 ~ 5.00| 2.14 10.84
2 100kN/m##8 2% — - ~ — —|3m%&iBzB — ~ — — — | 100kN/mMZ#8Z % — - ~ — —|3m%EBZB -~ — — —
zhst 1.00 1000 ~ 595 74.57 | #hLS | 000 ~ 595| 1.95 9.87 st 1.00 | 6.00 ~ 740 74.57 | #nLS | 500 ~ 740 1.95 9.87
3 100kN/m#zE#Z5| 1.00 | 000 ~ 022 10328 |3mZz#Bz3| — ~ — — — | 100kN/Mi%#8z25 | .00 | 1061 ~ 1120 10328 |3m%E#EZS -~ — — —
st 100022 ~ 801 100.00 | =St | 000 ~ 801|225 11.59 FnLst 1.00 | 6.00 ~ 1061 100.00 | =hbst | 6.00 ~ 1120 2.25 11.59
4 100kN/ Mm% 2% — -~ — —|m%ziEzB| — ~ - — — | 100kN/mMi%#BZ % — -~ — —|3m%E#BZ % -~ — — -
LS 100|000 ~ 602 75.42 | #hst | 000 ~ 602|218 11.00 Fhist 1.00| 6.00 ~ 960 75.42 | #hRS | 6.00 ~ 9.60)| 2.18 11.00
5 100kN/m%#82.% — - ~ — —|3mzE2Z| — ~ — — — | 100kN/M%#BZ 5 — - ~ — —|3mEEZD - ~ — — —
L 1.00 | 000 ~ 722 91.82 | #=hLs | 000 ~ 722|247 12.47 zhs 1.00\| 5.00 ~ 1040 91.82 | #hLSt | 5,00 ~ 1040 2.47 1247
G 100kN/mM##BZ25| 1.00 | 000 ~ 047 106.91 |3mZEBZZ| — ~ — — —| 100kN/M%#BZ25 | 1.00 | 1086 ~ 1230 106.91 |3mE#EZ3 - ~ — — —
L 1.00 047 ~ 825| 100.00| Ths o000 ~ 825|207 10.46 ZFh Lo 1.001 500 ~ 1086 100.00| Thst | 500 ~ 1230 2.07 10.46
- 100kN/ Mm%z 5 - -~ = —|3mEEzBZ| — ~ — — — | 100kN/mM%#8Z % — -~ — —|3m%E#Z 5 - ~ - — -
zhest 1.00 | 0.00 ~ 449 56.00 | #nLst | 000 ~ 449 1.97 9.985 s 1.00\| 600 ~ b6.20 56.00 | ThLSt | 6.00 ~ 620 1.97 9.98
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zhst 1.00 1000 ~ 718 91.25 | #hs | 0.00 ~ 0.00| 1.70 8.57 Znst 1.00 | 6.00 ~ 920 91.25 | #hst | 5.00 ~ 920\ 1.70 8.57
9 100kN/m%E#8B2%| 1.00| 000 ~ 1.70| 12606 |3mE#BzZ2B| — ~ — — — | 100kN/m%E#Z5| 1.00 | 1054 ~ 1660 126.06 |3mEiBZ3 - ~ — — —
st 100|170 ~ 949 100.00 | =nist | 000 ~ 949 | 2.35 11.88 FnLst 1.00 | 6.00 ~ 1054 100.00 | Fhst | 5.00 ~ 1660 2.35 11.88
10 100kN/m%E#8x5| 1.00 | 000 ~ 1.33| 120.17 |3mZEBzZZ| — ~ — — — | 100kN/m%E#25| 1.00 | 1081 ~ 1570 12017 |3mEiBZ3 -~ — — —
ZhLst 100|133 ~ 912| 100.00| Ths o000 ~ 912|226 11.41 zhLst 1001 500 ~ 1081 100.00| ThUs | 500 ~ 1570| 2.26 11.41
11 100kN/m#z#Bz25| 1.00 | 000 ~ 045 106.68 |3mEBZZ| — ~ — — — | 100kN/mi#E#25| 1.00 | 11.49 ~ 1310 106.68 |3mEIEZ3 - ~ — — —
L 100|045 ~ 824 100.00| EnLS | 000 ~ 824| 2.00 10.11 ZhLs 1.00) 5600 ~ 1149 100.00| ThLs | 5.00 ~ 1310] 2.00 10.11
12 100kN/m#z#2% | 1.00| 000 ~ 220| 15412 |3m&EBZ5| — ~ — — —| 100kN/i%#825 | 1.00 | 10.74 ~ 2090 15412 |3m%#B23 - ~ - — -
zhLs 100|220 ~ 998\ 100.00| ZnLS | 000 ~ 9.98| 2.569 13.10 Ths 100|500 ~ 1074 100.00| ThLs5 | 5.00 ~ 2090 2.59 13.10
100kN/m%#82 % ~ ImEEZD ~ 100kN/mM%# % % ~ 3mERBZ D ~
ZhLs ~ ZhLlst ~ ZTh st ~ Zh st ~
100kN/ Mm% x5 ~ ImEHEZD ~ 100kN/ Mm% %3 ~ 3ImERZS ~
ZhLs ~ ZhLlst ~ Zhlst ~ Ths ~
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